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Part A: 59.5%
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1. Consider the following matrix indicating the quantity of labour required to produce one unit of two goods in two countries
  
Steel

  Clothes

UK

 4 days

 8 days

Germany
 6 days

 9 days

a. The UK has absolute advantages in both goods and a comparative advantage in clothes

b. The relative price in autarky in the UK is 1 steel = 2 clothes

c. The UK does not have an absolute advantage in any of the goods but has a comparative advantage in steel

d. The relative price in autarky in Germany is 1 cloth = 1.5 steel

2. Assuming constant opportunity costs, suppose that Spain can produce 1000 clothes if it devotes all its resources to the production of clothes; and that it can produce 5000 units of wheat if it devotes all its resources to the production of wheat.


If the world price is 1 wheat = 0.3 cloth, Spain will export …; If instead the world price is 1 wheat = 5 clothes, Spain will …
a. wheat; also export wheat
b. Clothes; also export clothes

c. Wheat; export clothes

d. Clothes; not trade

3. The following matrix presents the quantity of each of two goods produced with one day of labour in two countries.


Wine 
Olive oil

US

  3
     3

UK

  2 
     1,5

If the British wage is £30 per day and $2 = £1, which is the “upper limit” for the daily wage in the US?

a. $30

b. $40

c. $90

d. $120

4. Suppose that the quantity of labour necessary to produce one unit of each of two goods in three countries is as follows:



Wheat

Cloth
Spain
           2 days

  3 days

France

2 days

  2 days

US

1 day
              3 days
If the world relative price is 1 cloth = 2 wheat, clothes will be exported and wheat will be imported by …; If the world relative price is 1 wheat = 0.75 cloth, cloth will be exported and wheat will be imported by …

a. France and the US; Spain

b. Spain and France; France

c. France and the US; Spain and  the US

d. Spain and France; Spain and the US.

5. If PX/PY in autarky in a small country is lower than the international price, then this country has a comparative advantage in good …; and if this country opens up to trade the relative price of Y for the consumers of that country will …

a. X; rise

b. X; fall

c. Y; rise

d. Y; fall

6.  In the Hecksher Ohlin model, trade generally leads to … specialization, … Ricardian model

      a. Complete; in contrast with what generally happens in the
      b. Complete; the same result as in the
      c. Incomplete; in contrast with what generally happens in the

      d. Incomplete; the same result as in the

7. Consider two countries with the same costs conditions which produce two goods subject to external economies of scale.


If trade leads to full specialization:

a. The average production cost of each good in the two countries will fall, and the welfare will rise in both countries.
b. The average production cost of each good in the two countries will fall, and the welfare in both countries may fall if both suffer a decline in their terms of trade

c. The average production cost of each good in the two countries will fall, and the welfare in one of the countries may fall if it suffers a decline in its terms of trade

d. The average production cost of each good in the two countries will fall, and the welfare in both countries will only rise if both see their terms of trade improve.

8. If a capital abundant country A starts trading with a labour abundant country B:

a. w/r will rise in A and fall in B

b. w/r will rise in both A and B
c. w/r will fall in A and rise in B
d. w/r will fall in both A and B

9.  As far as the theory of trade based on the life cycle of products is concerned:

a. A country that launches a new product in the world market tends to remain, from then on, a net exporter of that product
b. Developing countries tend to be exporters of agricultural goods and importers of manufactured goods

c. There is evidence that developing countries can be exporters of “old products”, and that evidence is consistent with the theory

d. Developing countries start exporting products as soon as they reach the “maturity stage”

10. According to one theory presented in our lectures, intra-industry trade can be a result of:
a. internal economies of scale and differentiated products

b. external economies of scale and differentiated products

c. internal economies of scale and homogeneous products

d. external economies of scale and homogeneous products

11. According to Linder, a country exports goods to another country which …, and tends to trade especially with countries with per capita income levels …
a. also produces those goods; similar to its own

b. also produces those goods; very different from its own

c. does not produce those goods; similar to its own

d. does not produce those goods; very different from its own

12. Suppose that a tariff on the imported final good X is 8%, and that the tariff on the imported input used in the production of that good is 12%. In this setting, the effective rate of protection of the final good X is:

a. higher than 12%

b. between  8% and 12%

c. lower than 8% and higher than 0%

d. lower than 8% and can be negative

13. An export subsidy:

a. increases the domestic price of the exported good and reduces the welfare of the country

b. increases the domestic price of the exported good and raises the welfare of the country

c. does not change the domestic price of the exported good

d. may raise the world price of the exported good

14. A quota on imports of a certain good by a large country:

a. always generates a net loss for the importing country

b. generates a net loss for the importing country if the government sets up an auction to sell the import licenses
c. does not have any effect on the exporting country

d. none of the previous

15. Consider a good that is imported by the US from a foreign monopolistic firm. Production is carried out at a constant marginal cost. A tariff of 5€ per unit:

a. raises the marginal cost of selling the good in the US by 5€, and also raises the price in the US market by 5€,  

b. raises the marginal cost of selling the good in the US by 5€, and raises the price in the US market by more than 5€
c. raises the marginal cost of selling the good in the US by 5€, and raises the price in the US market by less than 5€

d. none of the previous

16. If country A forms a customs union with country B, then:

a. Country B keeps the tariff revenues from its imports from country A

b. All the new trade between A and B is known as “trade creation”

c.  The welfare of both countries will necessarily rise, especially if  A and B start importing from each other goods that were previously imported from countries outside the union

d. A and B may benefit from the union if there are significant economies of scale in some of their industries

17. A country tends to benefit from joining a customs union if (i) the number of countries in the union is …, and (ii) if the level of its tariffs before the union is …
a. small; high

b. small; low

c. big; high

d. big; low.






Part B

1. (7%) Country A is a small country which imports good X whose international price is equal to 8. The domestic supply and demand functions of good X are given by:

D = 60 – 3.P

S = 4.P – 10

Determine the import quota equivalent to a tariff of 12.5%

2. (5.5%) “Some countries do not gain anything from trade because they do not have a comparative advantage in any good at all.” Do you agree? Explain

Maximum: 8 lines

3. (7%) Explain the “infant industry argument”.

Maximum: 10 lines

4. (7%) Explain the main arguments against free trade.

Maximum: 10 lines
5. (7%) Explain the main features of the European Common Agricultural Policy.

Maximum: 10 lines

6. (7%) Explain the main arguments for free trade.

Maximum: 10 lines
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